1
, Mounib Solution 100
3,600erg/mm? 10 650
6 , 65,70,75,80 h 4 , 28 20 ,30 10 ,
80,85,90,95 h, 4 , 1 3 3
, 14
1,2 0.0 3.3
28 20 0.6 12.0
1 6
‘ cont B = p 0.7 40.7
U Veont 85 3 1] 3.9 0.0
65C- h 672 0 0 0.0 0.0
70°C- h 586 0 0 0.0 0.0
75°C- h 564 10 1 1.8 0.2
80C- h 403 14 7 3.5 1.7
2 Ncont 145 137 137 9.5 94.5
U Veont 154 92 2 59.7 1.3
65C- h 831 17 3 2.0 0.4
70°C- h 769 34 25 4.4 3.3
75°C- h 813 4 4 0.5 0.5
80°C - h 815 8 1 L0 0.9




2 6

28°C20%3

2 Noont 88 82 82 93.2 93.2
U Veont 76 25 11 32.9 14.5
80°C- h 649 67 53 10.3 8.1
8C- h 598 86 72 14.3 12.0
90°C+ h 454 14 11 3.1 2.4
95C - h 544 4 3 0.7 0.6
30°C10%
2 Neont 94 69 69 73.4 73.4
U Vcont 103 0 0 0.0 6.0
80C-h 388 3 1 0.8 0.3
85C - h 554 3 ] 0.5 0.0
90°C- h 418 0 0 0.0 0.0
95°C - h 400 0 i} 0.0 0. 0
2 , 2
, 2
650kg cm®* 6 30 5 , 70,80,90
,2 1 1
1 3 3 ,
3 E] 4 ’ ’
3 6
IR (H) HEREHM B E
2 Ncont 173 148 148 85.5 85.5
UVecont 158 26 0 16.5 0.0
70°C - h 861 13 7 1.5 0.8
80°C- h 926 7 7 0.8 0.8
90°C - h 815 0 i 0.0 0.0
2 Necont 125 40 38 32.0 30.4
UVcont 135 16 2 11.9 1.5
70C- h 652 17 g 2.6 1.4
80°C- h 623 0 0 0.0 0.0
90°C - h 500 )] 0 0.0 0.0
4 6

2 Neont 108 107 107 99.1 99. 1
U Veont 73 5 5 6.8 6.8
70°C - h 824 8 0 0.0 0.0
80C- h 874 0 1] 0.0 0.0
0T h____ 874 8 0 0.0 0.0




10

1,2
650 6 , 28 20
, 1 3 3
5 21.7 73 4
1000 ,
5 6
cont R TR e no.o o
U Veont 96 41 4 42.7 4.2
mERE 1114 258 242 23.2 2.7
Ezmm 1129 869 829 77.0 73.4
4
, 30 10
6 ,
288



2 Neont 82 82 82 100. 0 100. 0
U Veont 66 53 0 80.3 0.0
G2NA 882 354 279 40.1 3.6
2 Neont 100 7 7 7.0 7.0
U Vecont 105 0 0 0.0 0.8
mEng 2960 7 1 0.2 0.2
2 Ncont 128 5 4 3.9 3.1
U Veont 129 0 0 0.0 0.0
mEme 1062 6 2 0.6 0.2
2 Ncont 177 1 ] 0.6 0.0
U Vcont 202 0 0 0.0 0.0
ogan 2207 1 i} 0.0 8.0




